HEBEnEFY |

(HALEENIHE ->2HY)

F M8 & )
(1) 9X(8—4+2) (7) (9X8+4)+2
(2) (IX8—4)+2 8) (9—8)X4+2
(3) IX8+4+2 @) IX(8+4)+2
(4) 9X(8+4+2) (10) +(8—4)X2
(5) 9+8X(4—2) (1) 9X8—4+2
6) 9+8+4—2 (12) IX(8—4)+2
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HEBEnEFY |

(HALEENIHE ->2HY)

£ M A

() 9X(8—4-+2) (7) (9X8+4)+2
= 9X(8-2) = (72+4)+2
= gXé6 = T76+2
= 54 = 38
2) (9X8—4)+2 ®) (9—8)X4+2
= (72—4)+2 = | X4+2
= 34 =6
(3) IXB8+4+2 @ 9GX(8+4)+2
= 72+2 = gX|2+2
= 74 = 108+2

= 54
4) IX(8+4+2) (10) 9+(8—4)X2
= gX(8+2) = G+4X2
=gxI10 = g+8
=90 =17
(5) 9+8X(4—2) (1) GX8—4+2
= 9+8X2 = 72-2
=g+16 =70
= 25
6) 9+8+4—-2 (12) 9X(8—4)+2
= q+2-2 = X452
= ||1-2 = 36+2
=9 =18
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